AR (AFHERER, REMBRREHETER, RIENERER,

REMERFREFRTRRUBRIENERE)

HEBMOELE
K
HEFES HEESR et B thig
AR HEEEERFES —
128 A
SN — THBUEHE | _pyis | smme | pemER | BB | BenRE | BRRH
RS S LESS[OF=F 1EHER EEBER HpEE EEBER R

% % % % %
158 £HFEAR 1% g 3.145 6.9 0.859 — -
3.165 7.0 0.848 - -
2% = 1.522 38 0.492 — -
=l 1.567 40 0.481 — —
3% = 0.685 25 0.219 — -
=l 0.748 2.7 0.213 — —
FHEZRAR 2% = 1.874 48 0.474 — -
=l 1.941 49 0.481 — —
3% = 0.894 3.1 0.186 — -
=l 0.978 33 0.185 — —
4%| = 0.508 25 0.046 — -
=l 0.606 2.8 0.039 — —
KEWRAHEEFAK 9% g 3.327 7.1 1.028 - -
3.346 7.2 1.016 - -
8% = 1.565 38 0.593 — -
=l 1.618 39 0.596 — —
7% = 0.764 2.7 0.243 — -
£l 0.836 2.8 0.254 — —
—=A55 3% - 1.375 3.9 0.331 - —
4% 0.906 3.1 0.184 — -
53| - 0.588 2.7 0.058 — -
2% £HFEAR 1% g 3.145 6.9 0.859 — -
3.165 7.0 0.848 - -
2% = 1.522 38 0.492 — -
=l 1.567 40 0.481 — —
3% = 0.685 25 0.219 — -
=l 0.748 2.7 0213 — —
FHEZRAR 2% = 1.874 48 0.474 — -
=l 1.941 49 0.481 — —
3% = 0.894 3.1 0.186 — -
=l 0.978 33 0.185 — —
4%| = 0.508 25 0.046 — -
=l 0.606 2.8 0.039 — —
KEWRAHEFAX 9% g 3.327 7.1 1.028 - -
3.346 7.2 1.016 - -
8% = 1.565 38 0.593 — -
=l 1618 39 0.596 — —
7% = 0.764 2.7 0.243 — -
£l 0.836 2.8 0.254 — —
—=AH5 3% - 1.375 3.9 0.331 - —
4%| 0.906 3.1 0.184 — -
5% - 0.588 2.7 0.058 — -
3% £HFEAR 1% g 3.145 6.9 0.859 — -
3.165 7.0 0.848 - -
2% = 1.522 38 0.492 — -
=l 1.567 40 0.481 — —
3% = 0.685 25 0.219 — -
=l 0.748 2.7 0.213 — —
FHEZRAR 2% = 1.874 48 0.474 — -
=l 1.941 49 0.481 — —
3% = 0.894 3.1 0.186 — -
=l 0.978 33 0.185 — —
4%| = 0.508 25 0.046 — -
=l 0.606 2.8 0.039 — —
KEWRAHEFAK 9% g 3.327 7.1 1.028 - -
3.346 7.2 1.016 - -
8% = 1.565 38 0.593 — -
=l 1.618 39 0.596 — —
7% = 0.764 2.7 0.243 — -
£l 0.836 2.8 0.254 — —
—=AH5 3% - 1.375 3.9 0.331 - —
4%| - 0.906 3.1 0.184 — -
5% - 0.588 2.7 0.058 — -




HEFES HEESR et B thig
AR HREEEEHEZMES —
o 2| A
N TRBUERE | —mem | osgme | RemER | BRE | REDRER | BRRE
RS S LESS[OF=F EHER EEBER HpEE EEBER R
% % % % %
458 £HFZEAR 1% = 15.261 178 7.985 — -
=l 15.325 178 8.029 - -
2% = 13.220 113 8.486 — -
=l 13.298 115 8.487 - -
3% = 10.410 8.1 7.086 — -
ol 10.548 8.3 7.133 - -
FHEZRAR 2% = 13.299 14.4 7.419 - —
=l 13.391 14.7 7.402 - -
3% = 10.890 10.1 6.785 — -
=l 11.045 105 6.795 - -
4%| = 8.674 75 5.721 — -
=l 8.882 78 5.793 - -
KEWRAHEFAK 9% 3 16.078 18.3 9.313 - -
=l 16.120 18.4 9.317 - -
8% = 13913 114 9.900 — -
=l 13.994 116 9.903 - -
7%l = 11.011 85 8.168 — -
£l 11.152 8.7 8.222 - -
—=AH5 3% - 11.034 1.1 6.564 - —
4% 9.293 9.2 5.663 — -
53| - 7572 1.7 4635 — -
5% £HFEAR 1% = 15.261 178 7.985 — -
=l 15.325 178 8.029 - -
2% = 13.220 113 8.486 — -
=l 13.298 115 8.487 - -
3% = 10.410 8.1 7.086 — -
=l 10.548 8.3 7.133 - -
FHEZRAR 2% = 13.299 144 7.419 - —
=l 13.391 14.7 7.402 - -
3% = 10.890 10.1 6.785 — -
=l 11.045 105 6.795 - -
4%| = 8.674 75 5.721 — -
=l 8.882 78 5.793 - -
KEWRAHEFAK 9% 3 16.078 18.3 9.313 - -
=l 16.120 18.4 9.317 - -
8% = 13913 114 9.900 — -
=l 13.994 116 9.903 - -
7%l = 11.011 8.5 8.168 — -
£l 11.152 8.7 8.222 - -
—=AH5 3% - 11.034 1.1 6.564 - —
4% 9.293 9.2 5.663 — -
52| - 7572 1.7 4635 — -
6%8 2HFEAR 1% = 15.261 178 7.985 — -
=l 15.325 178 8.029 - -
2% = 13.220 113 8.486 — -
=l 13.298 115 8.487 - -
3% = 10.410 8.1 7.086 — -
=l 10.548 8.3 7.133 - -
FHEZRAR 2% = 13.299 144 7.419 - —
=l 13.391 14.7 7.402 - -
3%| = 10.890 10.1 6.785 — -
=l 11.045 105 6.795 - -
4%| = 8.674 15 5.721 — -
=l 8.882 78 5.793 - -
KEWRAHEFAK 9% g 16.078 18.3 9.313 - -
16.120 18.4 9.317 — —
8% = 13913 114 9.900 — -
=l 13.994 116 9.903 - -
7% = 11.011 85 8.168 — -
£l 11.152 8.7 8.222 - -
—EAR 3% - 11.034 111 6.564 - -
4% - 9.293 9.2 5.663 — -
5%| - 7572 7.7 4635 — -




fMEFES HEER T E frtthig
HBE BEEEAFES BEMHT
N I — TIBIERE | _gaus | sopme | memaw | GBE | 2en®RE | BEBRS
= > TR AR LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.284 16 0.192 - -
0.451 2.0 0.189 - -
2%| = 0.023 14 0.001 - -
=l 0.192 1.9 0.001 - -
3% = 0.022 14 0.001 - -
=l 0.191 1.9 0.001 - -
EEFFER HEER T E Rty
R HREEERAFMES RBERRET
NN — TIBERE | _gpin | sopme | memEs | Gme | Bep®Ey | SERM
7 AE SRS L SIOF=F 3 ZAER AT R i TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.284 1.6 0.192 - -
0.451 2.0 0.189 - -
2%| 3 0.023 14 0.001 - -
o) 0.192 1.9 0.001 - -
3% = 0.022 1.4 0.001 — -
<) 0.191 1.9 0.001 - -
fEFES HEER T E frtthig
HBE REEEAFES BERET
SN I— TIBIERE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= > TR LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.549 1.9 0.349 - -
0.712 2.3 0.340 — —
2%| = 0.023 14 0.001 - -
=l 0.192 1.9 0.001 - -
3% = 0.022 14 0.001 - -
=l 0.191 1.9 0.001 - -
EEFFER HEES T E Rty
R HREEERAFMES PR EERT
NN — TIBERE | _gpin | sopme | RemEs | mRe | Bep®y | SERM
7 AE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.284 1.6 0.192 - -
0.451 2.0 0.189 - -
2%| 3 0.023 14 0.001 - -
<) 0.192 1.9 0.001 - -
3% i 0.022 1.4 0.001 — -
o) 0.191 1.9 0.001 - -
fMEFES HEER T E frtthig
HBE BEEEAFES HBEAET
SN I— TIBIERIE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= > TR LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 1.503 1.6 1.399 - -
1.664 2.1 1.384 — —
2%| = 0.503 1.5 0.443 - -
=l 0.668 20 0.436 - —
3% = 0.023 14 0.001 - -
=l 0.191 1.9 0.001 - -




fMEFES HEER T E frtthig
HBE BEEEAFES BERmT
N I — TIBIERE | _gaus | sopme | memaw | GBE | 2en®RE | BEBRS
= > TR AR LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.284 16 0.192 - -
0.451 2.0 0.189 — —
2%| = 0.023 14 0.001 - -
=l 0.192 1.9 0.001 - -
3% = 0.022 14 0.001 - -
=l 0.191 1.9 0.001 - -
EEFFER HEES T E Rty
R HREEERAFMES SRR T
NN N TIBIEEE | _mus | mpme | mewEd | SRR | REDEE | BERE
7 AE SRS L SIOF=F 3 ZAER AT R i TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.284 1.6 0.192 - -
0.451 2.0 0.189 - -
2%| 3 0.023 14 0.001 - -
o) 0.192 1.9 0.001 - -
3% = 0.022 1.4 0.001 — -
<) 0.191 1.9 0.001 - -
fMEFES HEER et E frtthig
HBE BEEREAFES EBEZRET
SN I— TIBIERE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= > TR LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.284 16 0.192 - -
0.451 2.0 0.189 — —
2%| = 0.023 14 0.001 - -
=l 0.192 1.9 0.001 - -
3% = 0.022 14 0.001 - -
=l 0.191 1.9 0.001 - -
EEFFER HEES T E Rty
R HREEEHAFMES HHESSET
NN — TIBERE | _gpin | sopme | RemEs | mRe | Bep®y | SERM
7 AE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 4124 2.1 3.845 - -
4.290 2.5 3.836 - -
2%| 3 2219 1.7 2.093 - -
<) 2.389 2.1 2.091 - -
3% i 1.079 1.6 0.978 — -
o) 1.239 2.1 0.962 - -
fEFES HEER T E frtthig
HBE BEEEAFES HREELET
SN I— TIBIERIE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= > TR LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 0.284 1.6 0.192 - -
0.451 2.0 0.189 — —
2%| = 0.023 14 0.001 - -
=l 0.192 1.9 0.001 - -
3% = 0.022 14 0.001 - -
=l 0.191 1.9 0.001 - -




fMEFES HEER T E frtthig
HBE BEEEAFES BE T
N T TIMERE | _gin | spme | memEw | GRE | BEpRY | BERM
= > TR AR LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.284 16 0.192 - -
0.451 2.0 0.189 — —
2%| = 0.023 14 0.001 - -
=l 0.192 1.9 0.001 - -
3% = 0.022 14 0.001 - -
=l 0.191 1.9 0.001 - -
EEFFER HEER T E Rty
R HREEERAFMES i8S E SR RREEE AT
NN — TIBERE | _gpin | sopme | memEs | Gme | Bep®Ey | SERM
7 AE SRS L SIOF=F 3 ZAER AT R i TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.305 1.7 0.187 - -
0.471 2.1 0.184 - -
2%| 3 0.023 14 0.001 - -
o) 0.192 1.9 0.001 - -
3% = 0.022 1.4 0.001 — -
<) 0.191 1.9 0.001 - -
fEFES HEER T E frtthig
HBE REEEAFES i8R ESERRR B KA
SN I— TIBIERE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= > TR LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.388 1.7 0.269 - -
0.553 2.1 0.263 — —
2%| = 0.023 14 0.001 - -
=l 0.192 1.9 0.001 - -
3% = 0.022 14 0.001 - -
=l 0.191 1.9 0.001 - -
EEFFER HEES T E Rty
R HREEERAFMES i8R EEERRER AL
NN — TIBERE | _gpin | sopme | RemEs | mRe | Bep®y | SERM
7 AE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.284 1.6 0.192 - -
0.451 2.0 0.189 - -
2%| 3 0.023 14 0.001 - -
<) 0.192 1.9 0.001 - -
3% i 0.022 1.4 0.001 — -
o) 0.191 1.9 0.001 - -
fMEFES HEER T E frtthig
HBE BEEEAFES BEEERSIRICH
N . TIPERE | _gyin | spme | memEw | GBRE | BenRY | BERM
= > TR LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 0.284 1.6 0.192 - -
0.451 2.0 0.189 — —
2%| = 0.023 14 0.001 - -
=l 0.192 1.9 0.001 - -
3% = 0.022 14 0.001 - -
=l 0.191 1.9 0.001 - -




fMEFES HEER T E frtthig
HBE BEEEAFES i8S E A AR A ST AT
NN I XMEHEE | gy | xmme | memEn | BRE | A60RE | BERY
= > TR AR LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.284 16 0.192 - -
0.451 2.0 0.189 — —
2%| = 0.023 14 0.001 - -
=l 0.192 1.9 0.001 - -
3% = 0.022 14 0.001 - -
=l 0.191 1.9 0.001 - -
EEFFER HEES T E Rty
R HREEERAFMES i8S EEEER B AT
NN — TIBERE | _gpin | sopme | memEs | Gme | Bep®Ey | SERM
7 AE SRS L SIOF=F 3 ZAER AT R s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 3.008 2.0 2.751 - -
3.162 2.5 2.721 - -
2%| 3 1.128 18 0973 - -
o) 1.295 22 0.967 - -
3% = 0.044 15 0.001 — -
<) 0.212 1.9 0.001 - -
fMEFES HEER et E frtthig
HBE BEEREAFES i8R EE R T B AT
SN I— TIBIERE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= > TR LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 2.779 1.7 2.643 - -
2.946 2.1 2.639 — —
2%| = 2214 1.5 2.154 - -
=l 2.381 20 2.149 - —
3% = 1.811 1.5 1.751 - -
=l 1.974 20 1.742 - —
EEFFER HEES T E Rty
R HREEERAFMES i8S E AR S R AT
NN N HIBIEEE | _mais | mpme | mewEd | SRR | REDEE | BERE
7 AE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 1.126 1.9 0.926 - -
1.290 2.3 0917 - -
2%| 3 0.023 14 0.001 - -
<) 0.192 1.9 0.001 - -
3% i 0.022 1.4 0.001 — -
o) 0.191 1.9 0.001 - -
fEFES HEER T E frtthig
HBE BEEEAFES i8R EERFIIH
N . TIPERE | _gyin | spme | memEw | GBRE | BenRY | BERM
= > TR LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 0.284 1.6 0.192 - -
0.451 2.0 0.189 — —
2%| = 0.023 14 0.001 - -
=l 0.192 1.9 0.001 - -
3% = 0.022 14 0.001 - -
=l 0.191 1.9 0.001 - -




fMEFES HEER T E frtthig
HBE BEEEAFES BEEREAH
N E— IMERE | gy | pame | mewas | sme | Besws | ssps
= > TR AR LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.284 16 0.192 - -
0.451 2.0 0.189 — —
2%| = 0.023 14 0.001 - -
=l 0.192 1.9 0.001 - -
3% = 0.022 14 0.001 - -
=l 0.191 1.9 0.001 - -
EEFFER HEER T E Rty
R HREEERAFMES 18R hEEERE FHIET
NN — TIBERE | _gpin | sopme | memEs | Gme | Bep®Ey | SERM
7 AE SRS L SIOF=F 3 ZAER AT R i TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.284 1.6 0.192 - -
0.451 2.0 0.189 - -
2%| 3 0.023 14 0.001 - -
o) 0.192 1.9 0.001 - -
3% = 0.022 1.4 0.001 — -
<) 0.191 1.9 0.001 - -
fEFES HEER T E frtthig
HBE REEEAFES PBE hEERIL A ET
SN I— TIBIERE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= > TR LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.284 16 0.192 - -
0.451 2.0 0.189 — —
2%| = 0.023 14 0.001 - -
=l 0.192 1.9 0.001 - -
3% = 0.022 14 0.001 - -
=l 0.191 1.9 0.001 - -
EEFFER HEES T E Rty
R HREEERAFMES i8R AR AL AT
NN — TIBERE | _gpin | sopme | RemEs | mRe | Bep®y | SERM
7 AE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.284 1.6 0.192 - -
0.451 2.0 0.189 - -
2%| 3 0.023 14 0.001 - -
<) 0.192 1.9 0.001 - -
3% i 0.022 1.4 0.001 — -
o) 0.191 1.9 0.001 - -
fMEFES HEER T E frtthig
HBE BEEEAFES i8R chEER g A
N . TIPERE | _gyin | spme | memEw | GBRE | BenRY | BERM
= > TR LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 0.284 1.6 0.192 - -
0.451 2.0 0.189 — —
2%| = 0.023 14 0.001 - -
=l 0.192 1.9 0.001 - -
3% = 0.022 14 0.001 - -
=l 0.191 1.9 0.001 - -




fMEFES HEER T E frtthig
HBE BEEEAFES i8R choEER T R AT
RN E— IRMERE | gy | same | memEn | mRN | 2enRw | BER
=7 = HAREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.284 16 0.192 - -
0.451 2.0 0.189 — —
2%| = 0.023 14 0.001 - -
=l 0.192 1.9 0.001 - -
3% = 0.022 14 0.001 - -
=l 0.191 1.9 0.001 - -
EEFFER HEES T E Rty
R HREEERAFMES R E ERE S AR R ET
NN — TIBERE | _gpin | sopme | memEs | Gme | Bep®Ey | SERM
7 *AE SRS L SIOF=F 3 ZAER AT R i TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.284 1.6 0.192 - -
0.451 2.0 0.189 - -
2%| 3 0.023 14 0.001 - -
o) 0.192 1.9 0.001 - -
3% = 0.022 1.4 0.001 — —
<) 0.191 1.9 0.001 - -
fMEFES HEER et E frtthig
HBE BEEREAFES i8R B R AR R BT
SN I— TIBIERE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= =IE HEREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.284 16 0.192 - -
0.451 2.0 0.189 — —
2%| = 0.023 14 0.001 - -
=l 0.192 1.9 0.001 - -
3% = 0.022 14 0.001 - -
=l 0.191 1.9 0.001 - -
EEFFER HEES T E Rty
R HREEERAFMES HREEREBERSN
NN — TIBERE | _gpin | sopme | RemEs | mRe | Bep®y | SERM
7 xAE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 8.846 2.8 8.272 - -
8.990 33 8.215 - -
2%| 3 6.004 22 5.679 - -
<) 6.176 26 5674 - -
3% i 3.925 1.8 3.770 — -
o) 4.088 22 3.760 - -
fEFES HEER T E frtthig
HBE BEEEAFES BE B R EREERI KA
RN I IRMERE | gy | same | memEn | mRe | 2enRw | BER
=7 = HAREEDA LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 0.284 1.6 0.192 - -
0.451 2.0 0.189 — —
2%| = 0.023 14 0.001 - -
=l 0.192 1.9 0.001 - -
3% = 0.022 14 0.001 - -
=l 0.191 1.9 0.001 - -




fMEFES HEER T E frtthig
HBE BEEEAFES HEEERBEEH
NN - MRS | _pyw | oxmme | memEs | gEe | 2epRE | BRE
= > TR AR LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.284 16 0.192 - -
0.451 2.0 0.189 — —
2%| = 0.023 14 0.001 - -
=l 0.192 1.9 0.001 - -
3% = 0.022 14 0.001 - -
=l 0.191 1.9 0.001 - -
EEFFER HEER T E Rty
R HREEERAFMES HREERBEREN
NN — TIBERE | _gpin | sopme | memEs | Gme | Bep®Ey | SERM
7 AE SRS L SIOF=F 3 ZAER AT R i TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.284 1.6 0.192 - -
0.451 2.0 0.189 - -
2%| 3 0.023 14 0.001 - -
o) 0.192 1.9 0.001 - -
3% = 0.022 1.4 0.001 — -
<) 0.191 1.9 0.001 - -
fEFES HEER T E frtthig
HBE REEEAFES BEERBEARM
SN I— TIBIERE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= > TR LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.284 16 0.192 - -
0.451 2.0 0.189 — —
2%| = 0.023 14 0.001 - -
=l 0.192 1.9 0.001 - -
3% = 0.022 14 0.001 - -
=l 0.191 1.9 0.001 - -
EEFFER HEES T E Rty
R HREEERAFMES EE BRI XEA
NN N HIBIEEE | _mais | mpme | mewEd | SRR | REDEE | BERE
7 AE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.284 1.6 0.192 - -
0.451 2.0 0.189 - -
2%| 3 0.023 14 0.001 - -
<) 0.192 1.9 0.001 - -
3% i 0.022 1.4 0.001 — -
o) 0.191 1.9 0.001 - -
fMEFES HEER T E frtthig
HBE BEEEAFES HREERBFEER
SN I— TIBIERIE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= > TR LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 2.498 2.3 2.137 - -
2.659 2.7 2.120 — —
2%| = 0.357 1.6 0.256 - -
=l 0.518 2.1 0.241 - —
3% = 0.023 14 0.001 - -
=l 0.191 1.9 0.001 - -




fMEFES HEER T E frtthig
HBE BEEEAFES HREERBFEREEM
N E— IMERE | gy | pame | mewas | sme | Besws | ssps
e = HAREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 2516 18 2.361 - -
2.682 2.2 2.354 — —
2%| = 1.448 1.6 1.376 - -
=l 1.617 20 1.375 - -
3% = 0.926 1.5 0.866 - -
=l 1.089 20 0.857 - -
EEFFER HEES T E Rty
R HREEERAFMES HREERBAKXSHE
NN — TIBERE | _gpin | sopme | memEs | Gme | Bep®Ey | SERM
7 *AE SRS L SIOF=F 3 ZAER AT R s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 10.079 2.9 9.470 - -
10.224 34 9.414 - -
2%| 3 6.919 22 6.579 - -
o) 7.079 2.7 6.550 - -
3% = 4285 2.1 4.005 — —
<) 4.445 25 3.989 - -
fMEFES HEER et E frtthig
HBE BEEREAFES PEEERED/ \E AT
SN I— TIBIERE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= = HEREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.284 16 0.192 - -
0.451 2.0 0.189 — —
2%| = 0.023 14 0.001 - -
=l 0.192 1.9 0.001 - -
3% = 0.022 14 0.001 - -
=l 0.191 1.9 0.001 - -
EEFFER HEES T E Rty
R HREEERAFMES HREELHZEEN
NN — TIBERE | _gpin | sopme | RemEs | mRe | Bep®y | SERM
7 xAE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.284 1.6 0.192 - -
0.451 2.0 0.189 - -
2%| 3 0.023 14 0.001 - -
<) 0.192 1.9 0.001 - -
3% i 0.022 1.4 0.001 — -
o) 0.191 1.9 0.001 - -
fEFES HEER T E frtthig
HBE BEEEAFES SPBE/\E LA EET
SN I— TIBIERIE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
=7 = HAREEDA LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 1.968 20 1.705 - -
2.121 2.5 1.674 — —
2%| = 0.091 1.6 0.018 - -
=l 0.258 20 0.015 - -
3% = 0.023 14 0.001 - -
=l 0.191 1.9 0.001 - -




fMEFES HEZES T E frtthig
HBE MBEEREAFES SPBE/\E LA S AR E AT
N I — TIBIERE | _gaus | sopme | memaw | GBE | 2en®RE | BEBRS
= > TR AR BHUOEE T AR EEBER iR EEBER s

% % % % %
78 iAo TYIRAR 1% 2 7914 39 6.903 - -
8.024 45 6.779 — —
2%| = 4015 22 3.685 - -
=l 4171 2.7 3.652 - —
3% = 1.987 1.6 1.886 - -
=l 2.147 2.1 1.870 - —




MR GUEHERER REMBERERTE, RIRNERE RENESRERSTERUBREHARE)

HFBHDIELE
=
EEFFER HEEL #iEt B G tthisg
R HREEEAFMES R EREHET
TN P
NN — IBIERE | _gan | spme | memd@w | GRE | BepRE | BERS
> SRS LE SIOE=F 3 ZAER AT i AT i
% % % % %
3% iAo T RAN 12| 3 2414 1.7 2.141 — -
o) 4681 49 1.877 - -
2%| 3 1.207 1.6 1.030 - -
o) 3.735 49 0.887 - -
3% i 0.281 15 0.189 - —
<) 3.051 5.0 0.137 - -
448 AU TYIRAR 12| i 7.832 25 6.943 - -
o) 9.770 6.0 6.091 - -
2% 3 5.219 20 4.705 - -
o) 7.501 5.6 4.136 - -
3% i 2.724 1.9 2.330 - -
o) 5.347 5.6 1.984 - -
fEFES HEZES T E frtthig
HBE BEEREAFES HEBERRHET
|| A
N E— TIMERE | gy | pame | mewas | sme | Besws | ssps
= > TR AR BHOEE ZAE AR TR R iR TR R R
% % % % %
3F iAo TYIRAR 1Z| i3 2414 1.7 2.141 - -
=l 4681 49 1.877 - -
2%| = 1.207 1.6 1.030 - -
=l 3.735 49 0.887 - -
3% = 0.281 1.5 0.189 - -
=l 3.051 5.0 0.137 - -
4% A TYIRAR 1Z| i3 7.832 25 6.943 - -
=l 9.770 6.0 6.091 - -
2% = 5.219 20 4705 - -
=l 7.501 5.6 4136 - -
3% = 2.724 1.9 2.330 - -
=l 5.347 5.6 1.984 - -
EEFFER HEEL #iEt B G tthisg
R HREEEAFZMES HBERET
V- | P
NN —— IBIERIE | _gan | spme | memEw | GRE | BepRE | BERS
> SRS HH0EE ZAER AT i AT i
% % % % %
3% iAo TIvIRAN 1% 3 2414 1.7 2.141 — -
o) 4681 49 1.877 - -
2% 3 1.207 1.6 1.030 - -
o) 3.735 49 0.887 - -
3% i 0.281 15 0.189 - -
o) 3.051 5.0 0.137 - -
448 AU TYIRAR 12| i 7.832 25 6.943 - -
o) 9.770 6.0 6.091 - -
2%| 3 5.219 20 4.705 - -
o) 7.501 56 4.136 - -
3% i 2.724 1.9 2.330 - -
<) 5.347 5.6 1.984 - -




fMEFES HEZES T E frtthig
HBE REEEAFES BEERT
N I — TIBIERE | _gaus | sopme | memaw | GBE | 2en®RE | BEBRS
= =IE TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 Ao TYIRAR 1Z| 2 2414 1.7 2.141 - -
4.681 4.9 1.877 — —
2%| = 1.207 1.6 1.030 - -
=l 3.735 49 0.887 - —
3% = 0.281 1.5 0.189 - -
=l 3.051 5.0 0.137 - -
4% B L TYIRAR 1Z| 2 7.832 25 6.943 - -
9.770 6.0 6.091 — —
2%| = 5219 20 4.705 - -
=l 7.501 5.6 4136 - —
3% = 2.724 1.9 2.330 - -
=l 5.347 5.6 1.984 - —
MEFES HEEL #iEt B G tthisg
R HREEERAFMES R AET
NN N TIBIEEE | _mais | mpme | mewEd | SRR | REDEE | BERE
7 AE SRS LE SIOFF 3 ZAER AT g AT g
% % % % %
3 A TYIRAR 12| 2 2414 1.7 2.141 - -
4681 49 1.877 - -
2%| i3 1.207 1.6 1.030 - -
o) 3.735 49 0.887 - -
3% " 0.281 15 0.189 - -
<) 3.051 5.0 0.137 - -
448 AU TYIRAER 12| 2 9.570 25 8.681 - -
11.402 6.0 7.720 - -
2%| 3 6.757 22 6.084 - -
o) 8.945 59 5.341 - -
3% i 3.765 20 3.251 - -
o) 6.324 538 2.771 - -
fMEFES HEZES T E frtthig
HBE BEEEAFES PR AT
SN I— TIBIERE | _gaus | sopme | memaEw | GBS | 2en®Ry | BEBRS
= = TR BHHOEE T AR EEBER iR EEBER iR
% % % % %
3 iAo TYIRAR 1Z| 2 2414 1.7 2.141 - -
4.681 4.9 1.877 — —
2%| = 1.207 1.6 1.030 - -
=l 3.735 49 0.887 - —
3% = 0.281 1.5 0.189 - -
=l 3.051 5.0 0.137 - -
4% A TYIRAR 1Z| 2 7.832 25 6.943 - -
9.770 6.0 6.091 — —
2%| = 5219 20 4.705 - -
=l 7.501 5.6 4.136 - —
3% = 2.724 1.9 2.330 - -
=l 5.347 5.6 1.984 - —
MEFES HEEL #iEt B G tthisg
R HREEERAFMES PR E T
N I— TIBERE | s | spme | meman | Gee | 2en®En | BEES
7 AE SRS L SIOF=F 3 ZAERR AT i AT i
% % % % %
3% iAo T RAN 12| 2 2414 1.7 2.141 — —
4,681 4.9 1.877 - -
2%| 3 1.207 1.6 1.030 - -
o) 3.735 49 0.887 - -
3% i 0.281 15 0.189 - -
o) 3.051 5.0 0.137 - -
448 AU TYIRAR 12| 2 7.832 25 6.943 - -
9.770 6.0 6.091 - -
2%| 3 5.219 20 4.705 - -
o) 7.501 5.6 4.136 - -
3% i 2.724 1.9 2.330 - -
<) 5.347 5.6 1.984 - -




fMEFES HEER T E frtthig
HBE REEEAFES MBEERET
N I — TIBIERE | _gaus | sopme | memaw | GBE | 2en®RE | BEBRS
= =IE TR AR LES IO =F T AR EEBER s EEBER s
% % % % %
3 Ao TYIRAR 1Z| 2 2414 1.7 2.141 - -
4.681 4.9 1.877 — —
2%| = 1.207 1.6 1.030 - -
=l 3.735 49 0.887 - —
3% = 0.281 1.5 0.189 - -
=l 3.051 5.0 0.137 - -
4% B L TYIRAR 1Z| 2 7.832 25 6.943 - -
9.770 6.0 6.091 — —
2%| = 5219 20 4.705 - -
=l 7.501 5.6 4136 - —
3% = 2.724 1.9 2.330 - -
=l 5.347 5.6 1.984 - —
EEFFER HEER T E Rty
R HREEEHAFMES HHESSET
N - TIBERE | _gpin | sopme | memEs | mme | Bep®Ey | SERM
AR 31273 wxprmns |FHORR| RES BEBEE | AHBE BEpEE | ABE
% % % % %
3 A TYIRAR 12| 2 2414 1.7 2.141 - -
4681 49 1.877 - -
2%| i3 1.207 1.6 1.030 - -
o) 3.735 49 0.887 - -
3% " 0.281 15 0.189 — -
<) 3.051 5.0 0.137 - -
448 AU TYIRAER 12| 2 7.832 25 6.943 - -
9.770 6.0 6.091 - -
2%| 3 5.219 20 4.705 - -
o) 7.501 5.6 4.136 - -
3% i 2.724 1.9 2.330 — -
o) 5.347 5.6 1.984 - -
fMEFES HEER T E frtthig
HBE BEEEAFES HEEELET
SN I— TIBIERE | _gaus | sopme | memaEw | GBS | 2en®Ry | BEBRS
= =E TR BHOEE T AR EEBER s EEBER s
% % % % %
3 iAo TYIRAR 1Z| 2 2414 1.7 2.141 - -
4.681 4.9 1.877 — —
2%| = 1.207 1.6 1.030 - -
=l 3.735 49 0.887 - —
3% = 0.281 1.5 0.189 - -
=l 3.051 5.0 0.137 - -
4% A TYIRAR 1Z| 2 7.832 25 6.943 - -
9.770 6.0 6.091 — —
2%| = 5219 20 4.705 - -
=l 7.501 5.6 4.136 - —
3% = 2.724 1.9 2.330 - -
=l 5.347 5.6 1.984 - —
EEFFER HEES T E Rty
R HREEERAFMES PRk
. - TIBERE | _gpin | osopme | RemEs | GRe | Bep®ER | SERM
RS 31%7= wxprmns |FHORR| RS BEPEE | AHBE BEpEE | ABE
% % % % %
3 A TYIRAR 12| 2 2414 1.7 2.141 - -
4,681 4.9 1.877 - -
2%| 3 1.207 1.6 1.030 - -
o) 3.735 49 0.887 - -
3% i 0.281 15 0.189 — -
o) 3.051 5.0 0.137 - -
448 AU TYIRAR 12| 2 7.832 25 6.943 - -
9.770 6.0 6.091 - -
2%| 3 5.219 20 4.705 - -
o) 7.501 5.6 4.136 - -
3% i 2.724 1.9 2.330 - -
<) 5.347 5.6 1.984 - -




fMEFES HEER T E frtthig
HBE REEEAFES i8R E AR EEEH
N I — TIBIERE | _gaus | sopme | memaw | GBE | 2en®RE | BEBRS
= =IE TR AR LES IO =F T AR EEBER s EEBER s
% % % % %
3 Ao TYIRAR 1Z| 2 2414 1.7 2.141 - -
4.681 4.9 1.877 — —
2%| = 1.207 1.6 1.030 - -
=l 3.735 49 0.887 - —
3% = 0.281 1.5 0.189 - -
=l 3.051 5.0 0.137 - -
4% B L TYIRAR 1Z| 2 7.832 25 6.943 - -
9.770 6.0 6.091 — —
2%| = 5219 20 4.705 - -
=l 7.501 5.6 4136 - —
3% = 2.724 1.9 2.330 - -
=l 5.347 5.6 1.984 - —
EEFFER HEER T E Rty
R HREEERAFMES i8R EEE AR K B KA
N - TIBERE | _gpin | sopme | memEs | mme | Bep®Ey | SERM
RS 51%774 sxprmns |FOOER|  BEE | @epER | AWE | SERER | L=
% % % % %
3 A TYIRAR 12| 2 2414 1.7 2.141 - -
4681 49 1.877 - -
2%| i3 1.207 1.6 1.030 - -
o) 3.735 49 0.887 - -
3% " 0.281 15 0.189 — -
<) 3.051 5.0 0.137 - -
448 AU TYIRAER 12| 2 7.832 25 6.943 - -
9.770 6.0 6.091 - -
2%| 3 5.219 20 4.705 - -
o) 7.501 5.6 4.136 - -
3% i 2.724 1.9 2.330 — -
o) 5.347 5.6 1.984 - -
fMEFES HEER T E frtthig
HBE BEEEAFES ShiE R E SRR AT
SN I— TIBIERE | _gaus | sopme | memaEw | GBS | 2en®Ry | BEBRS
= =E TR BHOEE T AR EEBER s EEBER s
% % % % %
3 iAo TYIRAR 1Z| 2 2414 1.7 2.141 - -
4.681 4.9 1.877 — —
2%| = 1.207 1.6 1.030 - -
=l 3.735 49 0.887 - —
3% = 0.281 1.5 0.189 - -
=l 3.051 5.0 0.137 - -
4% A TYIRAR 1Z| 2 7.832 25 6.943 - -
9.770 6.0 6.091 — —
2%| = 5219 20 4.705 - -
=l 7.501 5.6 4.136 - —
3% = 2.724 1.9 2.330 - -
=l 5.347 5.6 1.984 - —
EEFFER HEES T E Rty
R HREEERAFMES R EEERSIRICA
. - TIBERE | _gpin | osopme | RemEs | GRe | Bep®ER | SERM
D s1%7% sxprmns |FOOER|  BEE | @epER | AWE | SERER | L=
% % % % %
3 A TYIRAR 12| 2 2414 1.7 2.141 - -
4,681 4.9 1.877 - -
2%| 3 1.207 1.6 1.030 - -
o) 3.735 49 0.887 - -
3% i 0.281 15 0.189 — -
o) 3.051 5.0 0.137 - -
448 AU TYIRAR 12| 2 7.832 25 6.943 - -
9.770 6.0 6.091 - -
2%| 3 5.219 20 4.705 - -
o) 7.501 5.6 4.136 - -
3% i 2.724 1.9 2.330 — -
<) 5.347 5.6 1.984 - -




fMEFES HEZES T E frtthig
HBE REEEAFES i8S E A AR A ST AT
RN E— IRMERE | gy | same | memEn | mRN | 2enRw | BER
=7 =IE TR AR LES IO =F T AR EEBER s EEBER s
% % % % %
3 Ao TYIRAR 1Z| 2 2.191 1.9 1.794 - -
4.471 5.1 1.504 — —
2%| = 0.367 1.6 0.219 - -
=l 2.946 48 0171 - -
3% = 0.018 14 0.001 - -
=l 2.804 49 0.001 - -
4% B L TYIRAR 1Z| 2 7.609 2.8 6.476 - -
9.560 6.3 5.598 — —
2%| = 4.380 1.9 3935 - -
=l 6.712 5.4 3.490 - -
3% = 2.461 1.7 2.191 - -
=l 5.100 5.4 1.907 - -
EEFFER HEEL T E Rty
R HREEERAFMES i8R E R AR R AT
N - TIBERE | _gpin | sopme | memEs | mme | Bep®Ey | SERM
RS 51%774 sxprmns |FOOER|  BEE | @epER | AWE | SERER | L=
% % % % %
3 A TYIRAR 12| 2 2414 1.7 2.141 - -
4681 49 1.877 - -
2%| i3 1.207 1.6 1.030 - -
o) 3.735 49 0.887 - -
3% " 0.281 15 0.189 — -
<) 3.051 5.0 0.137 - -
448 AU TYIRAER 12| 2 7.832 25 6.943 - -
9.770 6.0 6.091 - -
2%| 3 5.219 20 4.705 - -
o) 7.501 5.6 4.136 - -
3% i 2.724 1.9 2.330 — —
o) 5.347 5.6 1.984 - -
fMEFES HEZES T E frtthig
HBE BEEEAFES iBE EE R T B AT
RN I IRMERE | gy | same | memEn | mRy | 2enRw | BER
A =E TR BHOEE T AR EEBER s EEBER s
% % % % %
3 iAo TYIRAR 1Z| 2 2414 1.7 2.141 - -
4.681 4.9 1.877 — —
2%| = 1.207 1.6 1.030 - -
=l 3.735 49 0.887 - -
3% = 0.281 1.5 0.189 - -
=l 3.051 5.0 0.137 - -
4% A TYIRAR 1Z| 2 7.832 25 6.943 - -
9.770 6.0 6.091 — —
2%| = 5219 20 4.705 - -
=l 7.501 5.6 4.136 - -
3% = 2.724 1.9 2.330 - -
=l 5.347 5.6 1.984 - -
EEFFER HEEL T E Rty
R HREEERAFMES i8S E AR R AT
. - TIBERE | _gpin | osopme | RemEs | GRe | Bep®ER | SERM
RS 51%774 sxprmns |FOOER|  BEE | @epER | AWE | SERER | L=
% % % % %
3 A TYIRAR 12| 2 2414 1.7 2.141 - -
4,681 4.9 1.877 - -
2%| 3 1.207 1.6 1.030 - -
o) 3.735 49 0.887 - -
3% i 0.281 15 0.189 — -
o) 3.051 5.0 0.137 - -
448 AU TYIRAR 12| 2 8515 25 7.626 - -
10.411 6.0 6.729 - -
2%| 3 5.569 22 4.896 - -
o) 7.829 59 4.225 - -
3% i 2.724 1.9 2.330 — -
<) 5.347 5.6 1.984 - -




fMEFES HEZES T E frtthig
HBE REEEAFES i8R EERFIIH
N I — TIBIERE | _gaus | sopme | memaw | GBE | 2en®RE | BEBRS
= =IE TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 Ao TYIRAR 1Z| 2 2.257 1.7 2.005 - -
4534 48 1.804 — —
2%| = 1.207 1.6 1.030 - -
=l 3.735 49 0.887 - —
3% = 0.281 1.5 0.189 - -
=l 3.051 5.0 0.137 - -
4% B L TYIRAR 1Z| 2 6.067 2.1 5.463 - -
8.120 5.4 4.885 — —
2%| = 3.906 1.9 3511 - -
=l 6.269 5.3 3.113 - -
3% = 1.946 1.7 1.676 - -
=l 4615 5.4 1.422 - —
MEFES HEEL #iEt B G tthisg
R HREEERAFMES PR R EEEREE AT
NN —— TIBERE | _gpin | sopme | memEs | mme | Bep®Ey | SERM
7 AE SRS LE SIOFF 3 ZAER AT g AT g
% % % % %
3 A TYIRAR 12| 2 2414 1.7 2.141 - -
4681 49 1.877 - -
2%| i3 1.207 1.6 1.030 - -
o) 3.735 49 0.887 - -
3% " 0.281 15 0.189 - -
<) 3.051 5.0 0.137 - -
448 AU TYIRAER 12| 2 10.418 25 9.529 - -
12.291 6.0 8.609 - -
2%| 3 7.716 22 7.043 - -
o) 9.889 59 6.285 - -
3% i 4.868 20 4.354 - -
o) 7.368 538 3.850 - -
fMEFES HEZES T E frtthig
HBE BEEEAFES i8R hIEERE F AT
SN I— TIBIERE | _gaus | sopme | memaEw | GBS | 2en®Ry | BEBRS
= = TR BHHOEE T AR EEBER iR EEBER iR
% % % % %
3 iAo TYIRAR 1Z| 2 2414 1.7 2.141 - -
4.681 4.9 1.877 — —
2%| = 1.207 1.6 1.030 - -
=l 3.735 49 0.887 - —
3% = 0.281 1.5 0.189 - -
=l 3.051 5.0 0.137 - -
4% A TYIRAR 1Z| 2 7.832 25 6.943 - -
9.770 6.0 6.091 — —
2%| = 5219 20 4.705 - -
=l 7.501 5.6 4.136 - —
3% = 2.724 1.9 2.330 - -
=l 5.347 5.6 1.984 - —
MEFES HEEL #iEt B G tthisg
R HREEERAFMES P8R h B AR B BT
N I— TIBERE | s | spme | meman | Gee | 2en®En | BEES
7 AE SRS L SIOF=F 3 ZAERR AT i AT i
% % % % %
3 A TYIRAR 12| 2 2414 1.7 2.141 - -
4,681 4.9 1.877 - -
2%| 3 1.207 1.6 1.030 - -
o) 3.735 49 0.887 - -
3% i 0.281 15 0.189 - -
o) 3.051 5.0 0.137 - -
448 AU TYIRAR 12| 2 7.832 25 6.943 - -
9.770 6.0 6.091 - -
2%| 3 5.219 20 4.705 - -
o) 7.501 5.6 4.136 - -
3% i 2.724 1.9 2.330 - -
<) 5.347 5.6 1.984 - -




fMEFES HEZES T E frtthig
HBE REEEAFES S8R chEE AR AL chim AT
N I — TIBIERE | _gaus | sopme | memaw | GBE | 2en®RE | BEBRS
= =IE TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 Ao TYIRAR 1Z| 2 2414 1.7 2.141 - -
4.681 4.9 1.877 — —
2%| = 1.207 1.6 1.030 - -
=l 3.735 49 0.887 - —
3% = 0.281 1.5 0.189 - -
=l 3.051 5.0 0.137 - -
4% B L TYIRAR 1Z| 2 7.832 25 6.943 - -
9.770 6.0 6.091 — —
2%| = 5219 20 4.705 - -
=l 7.501 5.6 4136 - —
3% = 2.724 1.9 2.330 - -
=l 5.347 5.6 1.984 - —
MEFES HEEL #iEt B G tthisg
R HREEERAFMES SRR R AR R AT
NN —— TIBERE | _gpin | sopme | memEs | mme | Bep®Ey | SERM
7 AE SRS LE SIOFF 3 ZAER AT g AT g
% % % % %
3 A TYIRAR 12| 2 2414 1.7 2.141 - -
4681 49 1.877 - -
2%| i3 1.207 1.6 1.030 - -
o) 3.735 49 0.887 - -
3% " 0.281 15 0.189 - -
<) 3.051 5.0 0.137 - -
448 AU TYIRAER 12| 2 7.832 25 6.943 - -
9.770 6.0 6.091 - -
2%| 3 5.219 20 4.705 - -
o) 7.501 5.6 4.136 - -
3% i 2.724 1.9 2.330 — -
o) 5.347 5.6 1.984 - -
fMEFES HEZES T E frtthig
HBE BEEEAFES i8R choE AR T R AT
SN I— TIBIERE | _gaus | sopme | memaEw | GBS | 2en®Ry | BEBRS
= = TR BHHOEE T AR EEBER iR EEBER iR
% % % % %
3 iAo TYIRAR 1Z| 2 2414 1.7 2.141 - -
4.681 4.9 1.877 — —
2%| = 1.207 1.6 1.030 - -
=l 3.735 49 0.887 - —
3% = 0.281 1.5 0.189 - -
=l 3.051 5.0 0.137 - -
4% A TYIRAR 1Z| 2 7.832 25 6.943 - -
9.770 6.0 6.091 — —
2%| = 5219 20 4.705 - -
=l 7.501 5.6 4.136 - —
3% = 2.724 1.9 2.330 - -
=l 5.347 5.6 1.984 - —
MEFES HEEL #iEt B G tthisg
R HREEERAFMES R E ERES AR R ET
N I— TIBERE | s | spme | meman | Gee | 2en®En | BEES
7 AE SRS L SIOF=F 3 ZAERR AT i AT i
% % % % %
3 A TYIRAR 12| 2 2414 1.7 2.141 - -
4,681 4.9 1.877 - -
2%| 3 1.207 1.6 1.030 - -
o) 3.735 49 0.887 - -
3% i 0.281 15 0.189 - -
o) 3.051 5.0 0.137 - -
448 AU TYIRAR 12| 2 7.832 25 6.943 - -
9.770 6.0 6.091 - -
2%| 3 5.219 20 4.705 - -
o) 7.501 5.6 4.136 - -
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